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QUESTION 1

Select the statements that are correct about the functions of network devices. (Multiple Choice) 

A. Routers do not separate the network into different broadcast domains. 

B. Routers do not forward the broadcast frames in the network, 

C. LAN switches place each port into a separate collision domain. 

D. Hubs allow the separation of collision domains. 

Correct Answer: BC 

 

QUESTION 2

Storage controllers can be separated from the chassis of disk enclosures. It does not need to be integrated in design
with the disk enclosures. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 3

Which of the following disk interface technologies use serial interface technology? (Multiple Choice) 

A. ATA 

B. SATA 

C. sas 

D. IDE 

Correct Answer: BCD 

 

QUESTION 4

Which of the following are deployment modes of cloud computing? (Multiple Choice) 

A. Public cloud 

B. Private cloud 

C. Hybrid cloud 
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D. E-Government cloud 

Correct Answer: ABC 

 

QUESTION 5

Which of the following are correct steps in a LAN based backup job? (Multiple Choice) 

A. Agent on application server sends data to the backup device. 

B. Agent on application server sends data to backup media server, 

C. Backup media server sends data to the backup device. 

D. Backup server sends a "start-backup" command to the backup device. 

Correct Answer: BC 
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